EETIPER I R e TOTALPAGES
O CE L] 21BLU11/L21C11

PSG COLLEGE OF ARTS & SCIENCE -

e - (AUTONOMOUS) - ) / -

BBA DEGREE EXAMINATION MAY 2022
SR (Second Semester) -

P

ey COST ACCOUNTING AND MANAGEMENT S

ﬁ.Tlme Three Hours T o I. Sl Maxrmum 50 Marks

N

T AnswerALLquestlons A N EPE T SN
ALL questrons carry EQUAL marks (‘5 x1=58)y

G AN “Cost accountlng malnly helps the. management in_ -

.7+ (a) Earning extra profits - ;
= (b) Prov1d1ng information to the management for de0151on makmg
".‘(c)Frxmg prlces of the products o . D AN S
2 Whlle computmg proﬁt in margmal costlng, S
- (a) The fixed cost gets added to the contrlbutlon T V .
o (b) The total margmal cost gets’ deducted from total sales revenue o
%"+ (c) The total marginal cost gets added to total sales revenue . T L s
Gl (d) None ofthe above _ _‘ S T e e D

: ,»05» R Lo Tl =

SRR T';- prov1des an estlmate of the cap1ta1 amount that may be requlred for .
i "'.";buylng fixed assets needed for meetmg productlon requirements. | ‘
() Production budget . - . (b) Cash budget SR

R (c) Capltal expendrture budget E (d) None of the above

4 F mancral statements are meamngful and useful only when they are:.
e ()] analyzed and mterpreted - (b) vertical -
i (c) presented to owners “; S (d) publrshed T

. 5 Wthh of the followmg act1v1t1es 1s true about the cost varlance under the Standard

- “Costing System‘? : : : :
o (a) Cost variance is the dlfference between the standard cost and the actual cost

- (b) Cost variance is the difference between the standard cost and the budgeted cost o

= (e Cost variance is the difference between-the standard cost and the marginal’ cost L ;

C (@) Cost variance 1s the dlfference between the actual cost and the margmal cost '

L SECTION B (15 Marks)
\ el Answer ALL Questions ", S e
ALL Questlons Carry EQUAL Marks - Gx3=15 o o

6 :(a) Descrrbe the scope of cost accountmg

T | “OR

v
N .

. . (b) Narrate the objectrves of management account1ng‘7

Cr N

o : 7 ,: o (a) Grven the followmg, calculate (a) P/V ratlo and (b) Proﬁt when sales are Rs 20 OOO

(D) leed cost Rs. 4,000 °
(n) BEP Rs 10 OOO
i OR
‘(b) Outllne the appllcatlons of CVP analysrs

g (a) Hrghllght the advantages of cash budget‘? - - é_ Sa |



BN
DRV

. Sales targets

(b) A manufacturmg company submlts the followmg ﬁgures relatlng té‘PrOduct X Vel e

for the first quarter ‘of 2018:
-January

February
March

: Cont

= ,. _6(1,000 ‘units »‘ e
' ”48 000 units

72, 000 ‘units. -

R ‘Stock Position: 1° January 2018 (% of January 2008 sales) : 50% S
R f' Stock Position: 31St March, 2018 - 40,000 units’ R : e
B Stock Position: end January & February 50% AR

S (% of subsequent Morith’s sales) - . '
i You are requlred to prepare productron budget for the ﬁrst quarter of 2018 .

g (a) Current Ratio = 2. 8
s Acid-test Ratio'= L5
- Working Capital = ‘ ; S

Fmd out (a) Current Assets (b) Current L1ab1ht1es (c) L1qu1d Assets e

Rs.1, 62 000

~OR

>

r\ L -

(b) From the followrng mformatlon prepare common 51ze balance sheet of Roop

- K. Goyal Ltd.
E ' Partlculars

2016 | T
(Rs ln Lac)' (Rsiin - |
 Lac) |

Equrty Capttal ” T ,1".‘,:.

\' : 9% Redeemable Preference share '_

_ Capltal

T2l 250)

A ‘Credltors S

- [Bills Payable .

~2] 100|
100

" [Total Liabilities -

10 (a) Brmg out the reasons for mater1a1 varlances

950

| Fixed Assets |

‘ 'Debto'rs

[ 'Stock |

: N ‘Bills Recelvables : N

'Cash

| Total Assets

"OR

"_(b) Explam the stgmﬁcance of varrance analy51s ' R

T e SECTION -C (30Marlg ey

.o e CAnswer ALL questions o o
R ALL questlons carry EQUAL Marks o
- 11 B "(a) Dlscuss about the varrous class1ﬁcat1ons of cost x

. '(b) The accounts of Z, Manufacturmg Company for the year ended December, : -

e Factory Ofﬁce Salanes 6 500 -
' General Office Salaries 12,600 -
' Carriage Outward. |

'ﬁCarr1age on Purchases 7, 150 -

Sales o

OR

2016 show the followmg
Rs.

4,300

B fBad Debts wrrtten off 6, 500
. Repairs of Plant, -
. Machinery and Tools _
o '{.Rent Rates, Taxes &Insurance
' - Gas and Water — Factory
2,000 - L '
4 61 100'

4, 450

o ——Factory 8,500

—Ofﬁce

[ ',\-J'

.~ Productive Wages
- Depreciation— Plant Machtrrery
- and Tools : '
. Deprecratlon-— Furmture

Drrectors Fees .

A '-v,_'Managers Salary (3/4 Factory
< and'1/4 Office) EE

Travelhng Expenses L

6 500
300

6 000

~_ ~. 7

-1 200

- =Office | 400

Cont

1'0000

e -

21B‘LU11/L21C121Y'},‘“ S

'hf52017 ff (ORI |

Gx6=30)

o 2100 |
" Traveler’s Salaries &Commlssmn 7 700" 7
1 26 000 :
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vStock of Materlals R A
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- - =31%"Dec., 2015 - 62 800 General Expenses 3400: .
SO —3lst Dec., 2016 48, 000 < IncomeTax —~~ = - » 1500 R
. Materials Purchased 1,85, 000 ‘Dividend - - 1000}]‘ B

'.' ‘Prepare statement grvmg the followmg 1nformatron o
L e s(a) Materials Consumed ; (b) Prime Cost ; (¢) Factory Cost (d) Cost of
Productron (e) Total Cost (f) Net Proﬁt Cete : r

f 12 (a) RaJ Corpn Ltd has prepared the followmg budget estrmates for the year el
20092010 | e
“ ..'~':_?izj Sales (umts) e 15 000

o Sales: R U Rs. 1,50, 000 .
B Varlable costs: e Rs 6 per unit - R
S -,You are required to: | :
(i) Find the P/V ratio, break-even pomt and margln of safety
R ¢ 1) I " Calculate ‘the revised P/V. ratro, break-even pomt and margln of safety 1n?j“ B
. each of the followmg cases:. o : L i
Lo e Decrease of 10%in selhng price :
ST f;}b) Increase of 10% in variables costs
(b) Assummg that the cost structure and selhng prrces remarn the same in perrods
- 1 and Periods II, find out:- R
(a) P/V Ratio (b) ] Fixed Cost (c) BEP for sales (d) Proﬁt when sales are

safety at a proﬁt of Rs 15 090

e B Perlod Sales (Rs Cost | Proﬁt i
, Rs.) - | (Rs)'

II “140.000] 127,000 13000]

5 }i";vl; . =13 (a) The followmg mformatlon at 50% capacrty is glven Prepare a ﬂexrble budget and ;"
PRt _.-_forecast the proﬁt or loss at 60%, 70% and 90% capacrty S e

e "/ ;

R R s | capaclty B N
| Fixed Expenses_ | 1o
TR RN R R “Salaries. .- | -. 50,000) -
o o |Rentandtaxes | 40,000 |
/ . [Depreciation | 60,000
S [Administrative | 70,0001
T | Bxpenses . . | oo R C R
= . 7| Variable Expenses R e
L e e Materrals — o | -2000001 .
ST {Tapbor .. | 250000} -
o (othes o} ~ 40000 -
BRI S R A ‘Semi-Variable = .| E

BEE) -';leedExpenses S Rs34000 Lol

" Rs. 1,00,000 (e)Sales requrred to earn a proﬁt of Rs 20, OOO and (t) Margm of .‘ e
T T 120000] 1,15,000]  9000] S R

L Expenses at TR e s

oo | Expenses SR e

RS S Repairs o 1 1,00,000 | e
- | Indirect Labor oo 1,50,000

REAY

omes -~ .1 -90000] .

i It 1s estrmated that fixed expenses w111 remain constant at. all capamties Semi- 1 o B
S Varrable expenses wrll not change between 45% and 60% capacrty, will rise by 10%? .

S ""i'fﬂ'between 60% and 75% capacrty, a further increase of 5% when capacrty crosses 75% LR

Estlmated sales at Varlous levels of capacrty are: S
, [ A SRR S _'- Cont
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,’-Capacny Sales (RS) 1 .A , -
160%. _‘111'1‘,'00,000 B
- [70% - 113,00,000 | -
'90% :15 00 000 1 \
(b) A company is expectmg to. have Rs 32 000 cash in hand on 1/4/2008 and 1t
requests you to prepare cash budget for three months Apnl to June 2008 The followrng
mformatlon is supplled to you: X T _
FE Month Sales | ,:l?u_rchases» Wages Expenses(Rs) R .
Al 'Febr.,uary .70 OOO_-: o "4,45_0’00 L ,‘,_6,0-00, SRR 5 000 e N
" | March [ 80,000 56,000 . 9000 6 000
[Aprl | 96,000] 60,000 ﬁ 9,000 7000} o
[May | 1,00,000] 68,000 1’1' 000 - 9000| -~
| {June ~ | 1,20, 000*_ - 762 000’ 14, ooo . 9000] o
OtherInformatlon S o o B
* (a) Period of credlt allowed by suppllers is two months S
(b) 25% of sales are for cash and the perlod of credlt allowed to customers for credlt
. sales is‘one, month : ; : : .- S S
(c) Delay in payment of Wages and expenses one month N ;-‘ SR
(d) Income tax Rs 28 OOO is t0 be pald in June 2008 o j RS G T |

R L

N

14 (a) From the followmg detalls make out the balance sheet wrth as detalls as possrble ‘
- (i) Stock Velocity - - e= o6 e i
- (ii) Capital Turnover Ratlo CerERl, P W e
- (iii)Fixed assets turnover - = AT
~ - (iv) Gross profit Turnover ] Ratlo = "_‘2‘10%&,'. D A S SIS RN
- " (v)Debtors Velocity -~ = - 2 months e
. (vi) Creditors Velocity e '=’ 73days. .

" The gross profit was Rs. 60 000 Reserve & surplus amounts to Rs 20 000
o -Closmg stock was Rs 5 000 in- excess of opemng stock ' ST e
(b) Prepare comparatlve statements from the followmg data i ', ;jj_ B e

S - Income statement 2017 2018 N AR

S (st lqcks) - ,(RS- in e e e

R RS | ,,:la'ck\s’)_f B R T e

e Net sales 6000 '750' T A

;*..Cost of goods sold 400 : 600 T
'.;Admmlstratlve 1200 S 207 e
DR e '}expenses SR 10 ‘ lO__V . - i
o v‘..f];'Sellmg expenses '_af}j,r'g"»170 R ._1-"1'20. S RPN S

. lI'




L 6%
_|eapital -
'-',R_eSCrVeS‘

1 6% débéhturéé o

S ] \ Creditors” = |~
A v':Tax,payable S
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" Balance sheets -

2017;§—f; |
‘» (Rs in lacks) .

6RS"T;H
- lacks) .

201 8

o Equlty 'capi't:al e
preference

| Bills payable

'q\vu s

 share

'Buﬂdmgs R
| Plant. _j‘ R
o "Furmture S
1 : ;:»' ) Cash : '\::,' B

s |
bllflooa»(bﬂﬁif

_::¥4OOJ S R

o ‘400_ R
1 51300u'*j.a
150 |
15
©200- -
:7150&* |

1 300

SR

| .47‘3.;-«300
o 'v‘,200

100 [
7300 |

300

100

,-,;270 :

140
440

1 300

‘ 1520

:f “ .'15 (a) F rom the followmg mformatlon calculate (a) Matenal Cost Vanance (b) Materlal
e Usage Variance (c) Material Prlce Varlance =

' Matenal

Standard Prlce '
Quantlty

Staudard Actual
Quantlty

: Actual Prlce :’v}_: o

12

375

18 -

25

30

(b) From the followmg data calculate (l) Labour Cost Var1ance (2)/Labour Rate Sl

i gtandard

‘Actual

I '?'_‘Varlance (3)Labour Efﬁ01ency Vanance (4) Labour Mix Varlance _
_Partlculars = :

i Hours o ,‘

TRate

' Hours

= ',.Skllled Labour

101“

14.00

‘Serm-Skllled "8 Pl

Tsa00

16 L

| 100

';?090Q R

: -Un-sklllf?d

- The actual productlon was 1000 artlcles e

20000

R ' -
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